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= 820,099 11,099 809,000
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Al 3,571,418 3,764,190 N19R,772
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OAlZItNEY 2S 87,032, 720& 87,033 90,000 N2,967
M QI =R 23 3,120 3,600 2480
201 L= 3,120 3,600 A480
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OZINHMURE 22 S MZ
960,000 960 3,000 A2,040
S| erd e 500 1,500 21,000
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01 ArR2eltl 1,000 A1,000
Osd)| Ed 822 M o= 0 1,000 1,000
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A MHgls HNE HEEd AL (SSEML /TR <)
Rl A0l 243t EEREE)
A -3 - SRA(3H) - HRAE - BES Ofl &F2H I3 A Hwusz
O=gla SHADIIZt 222 MA
0 0 500 A500
SE2H 2ACIMA = 1,070,221 1,174,860 104,639
CH=H CCTV &l & SHIAY 368,303 446,000 ATT,697
201 Zer=4] 0 6,000 6,000
01 AtR2t2|HI 0 6,000 26,000
OXRtEHIAl 2ol A 7 0 0 6,000 6,000
401 A2 HIRL R 0HbI 368,303 440,000 AT1,697
01 Al&HI 368,583 420,000 AB1,417
OU=H 0V A&l & JHIAY
34,100,000 * 107K 341,000 400,000 59,000
OG=H OV AFEX & FHIAIYE &AIEH
g9 17,583,000& 17,583 20,000 N2, 417
02 Zeld| 9,720 20,000 210,280
OU=H OV Al7EXl & JHIAIY 289
9,720,000 9,720 20,000 210,280
SZNHE 2E 701,918 728,860 N26,942
201 et ] 689,260 714,860 A25,600
01 At 2teltl 73,924 91,924 /18,000
OUIESRIZ Xttzel etoldA e
0 0 18,000 18,000
2 s=s=34l 615,336 622,936 AT,600
OZHAILE & HEWCV 22+ ES
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OCCTV & SE2AMAE MII=2
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405 KHoHF S| 11,658 13,000 A1,342
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Ottt E A HAE WK
15,0002 200 3,000 15,000 212,000
Oogrdzte| /A 84
6,0502x210F 123 16,246 18,216 22,970




2A:

A Mogle QrNE MEEd TH(SSENMLSE /L <)
chel: SOHIHOH oI EER=E)
A -3 - SRA(3H) - HRAE - BES Ofl &4 I3 A Husz
OtdEH E2= MH 0 0 1,000 1,000
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5,250,000 %23 10,500 15,000 24,500
02 33234l 5,175 6,900 A1,725
OSR2 SAL 2
93,5002 x50 4,675 6,400 N1,725
202 04l 2,625 3,500 NB75
01 A 2,625 3,500 NB75
OSHMai(&d & ARl 3loaA o AR
g2 625,000 625 1,500 N875
207 A IHEH] 5,700 6,000 A300
01 18| 5,700 6,000 A300
OfIgd8It 84 5,700,000 5,700 6,000 A300
HY2AHH(THHUHS ) (OIEH/DJIE 215,652 265,663 A50,011
-] 180,312 230,323 A50,011
A SE2H 28 X2 180,312 230,323 A50,011
101 el 180,312 230,323 A50,011
08 SRA(PINAHL) 222+ 180,312 230,323 A50,011
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